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Instructions for clinicians
Conduct a practice test (track 11, Practice List)

o There are three seconds between each trial to allow
time for a response. Hit pause if more time is
needed.

o Use a checkmark to indicate the response to each
trial

o The box for each trial indicates the correct response

o Add up how many checks are in boxes to calculate the
score

Choose a list. List numbers correspond to track numbers.
Make sure you are using the lists for the disc you are using.

Conduct a test (tracks 1-10)

o There are three seconds between each trial to allow
time for a response. Hit pause if more time is
needed.

o Use a checkmark to indicate the response to each
trial

o The box for each trial indicates the correct response

o Add up how many checks are in boxes to calculate the
score



Calibration
A calibration noise is provided on both disks on track 12.

A calibration tone is provided on both disks on track 13.



Instructions

You will hear three sounds. One of the sounds is different than
the other two. Indicate which sound is different. Sometimes
this will be easy, other times this will be difficult. If you are
unsure you can guess.
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